4.3.notebook January 08, 2024

GO COUGARS!
p202  Homework Questions

\\\\\\\\\\ 9-62nd theance i rdins.

N

Feb 2-9:51 PM

4.3 Right Triangle Trig
SOH CAH TOA
Finding six trig ratios

Finding theta given a ratio
Mode of your calculator

Non-common trig ratios/values
Finding theta of non-common ratios/values

Angles of elevation and depression

Dec 20-8:31 AM
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. 0
sinf =
(/3
o h cosfd= -
_ O
tan @ = >
0

reciprocal functions

!
cscl= gwe ~ %
. 50
secld= (e * o
. d _ wsdb_a
cotd= .o~ P

What observation can you make about tan 6 ?

Dec 20-8:35 AM

: 1z 13
sin@d = 13 cscl = 12
12 2 cosf= 73 secl = %
— 1= _ 5
tan & = cotd= 5
B 0

Dec 20-8:52 AM
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. 3
Given sinf = 1
a

3 find the other 5 trig ratios
0
A sin @ = 2%; cscl =
cosd = g secl =

w[@ S W

tanf= &=L cotf= @

Dec 20-8:59 AM

Given secf =3,

Q=20 find the other 5 trig ratios

) Cos® = =
|
in@ = 2z _ 2
sin@ %31 cscl = ¢
cosf = —‘5 secl = 3
tand= 20 cotf= 35
sin @ cos
Remember; tanf = and cotd =—
cos @ sin @

Dec 20-8:59 AM
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Now let's work backwards!

. 1
Given siné =5  find &

in degrees 2D’

in radians T&

Dec 20-9:30 AM

Finding approximate ratios/values for those
not memorized from the unit circle

we use the calculator!

410 — L506 | sec32° = cosz>
sin4l - |.nax

I
an18°31'52"= 3352 cotl.2 = Tz n,

- = 3% )
COS— - 040 L W
5 AP Sin g
=1.0314

Dec 20-9:51 AM
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Now find theta when given a ratio/value

2314

Use your calculator to find sin@ = 3214

0°<0<90° <in'(2214) 0< 9<”

(degrees) (radians)
1339 0.23

Dec 20-9:57 AM

More examples:
in radians in degrees
tan6 =1.2563 -394 = .90 51.5
se§:¢9:1.3514 4 4221
= < 1.3514 A
e - Tazs ~oos (77)
cscd =1.5826 g
332
) 0.634
Sm ( \.532(»>

Dec 20-10:03 AM
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Angle of Elevation - the angle made with the hgfizon when you
are looking up at something

Angle of Depression - the angle made with the horizon when
you are looking down at something

ol

Jan 9-2:16 PM

HOMEWORK

p 308 5, 9-25 odd, 51a, 53-58 all,
63, 67, 69
Workbook p 40 1-12

Aug 29-6:38 AM
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™ 1180

0,360} 0, 21

270
31/2

Y

g

Jan 7-4:16 PM

-

T 1180

120

/2
90

30

0,360] 0, 21T

240

270
31m/2

\J

>

Jan 7-4:16 PM
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/2
90
120
3m/4 /4
30
™ 180 0,360] 0, 2m
33(Q
5tr/4 240 7m/4
270
31/2
Y
Jan 7-4:17 PM
/2
3m/4 120 /4
51r/6 /6
30
™ |180 0,360] 0, 2t >
33Q
711/6 111/6
oTT/4 240 7T/ 4
i 270 o3
™/ 3m/2 m/
 J
Jan 7-4:18 PM
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©, )] 5
TT,
2m/3 90
120
3m/4 /4
511/6 /6
30
m |180 0,360] 0, 21T
(-1,0) (1,0)
33(Q
71/6 1111/6
oTi/4 240 7T/4
270 51e/3
41/3 (0, 1) 31/2 ™
\J
Jan 7-4:20 PM
b
2m/3 /3
3m/4 TU/4
(-1/v2, 1/V2) (1/v2, 1/72)
511/6 /6
< L 0,360] 0,21
(-1, 0) (,0)
711/6 "1111/6
>Tr/4 7m/4
(-1V2,-1/V2) (12, -172)
411/3 0 a2 511/3
 J
x = cos ©
y=sin®
y/x =sin ®/cos® = tan ©
Jan 7-4:20 PM
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A

o, V)] T2

211-/3 3

3m/4 4

(172, 11/2)

/6
(V/3/2,172)

7m/6
(-V/3/2, -1/2)

(-1V2, -12)

111/6
(v/3/2,-1/2)

5t/4 71/4

(12, -1/V2)

January 08, 2024

4m/3 0. am/2 511/3
\
x =cos ©
y=sin ©
y/x =sin ®/cos® = tan ©
Jan 7-4:21 PM
A

/2
/3
(1/2,V3/2)

/4

(-1/v2, 1/V2) (1V2,11/2)

A

/6
(v/3/2,1/2)

0,360} 0, 2m >

71/6
(-/3/2,-1/2)

51/4

(12, -11/2)

(1,0)

111/6
(v/3/2,-1/2)

7m/4
(172, -1/1/2)

411/3 51/3
(172, -V/372) (0, 1)) 3m/2 (172, -V/3/2)
 J
X =cos ©
y=sin©®
y/x =sin ®/cos® = tan ©
Jan 7-4:22 PM
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